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The question paper is in the form of test booklet. All candidates will be assessed on identical questions.
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Read the instructions on the OMR sheet carefully. Use only ball Point Pen (Black or Blue) for writing / |
shading / bubble on OMR sheet and marking your answers,

3. el el Rl I F T e T % STem OMR I wite fim st | wlten ) wmfy o, Rt fre g f
OMR %R 312 i BT2 91 gt OMR 3 312 =1 Frfierss o) & qorm 2o wiafafy = s1es ame o) E
A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On |

completion of the test tear the OMR Answer sheet along the perforation mark at the top and handover the ‘i
original OMR answer sheet to the invigilator and retain this duplicate copy with you.

4w g v % fore form ofve /o et o swraver 21, wst g ST fawedt (a), (b), (o) 3 (d) 3 g R f sy
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Each objective question is provided with a text and/or figures wherever applicable with multiple answer
choices (a}, (b), (c} and {d}. Only cne of them is correct.
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1. e o g s 3T 2|

The Unit for sensitivity of Voltmeter is

(a)  wEa/ =/ Amp/Volt (by mE /a2 / Ohms/Volt
(¢}  diee/ W4/ Volt/Amp (d) Ur/3Ed / Amp/Ohm
2. DVM (7 dicenmd}) T 1.4958 V ol WS Rad i & fF i 2

The display of 1.4958 V on a DVM (Digital Volt Meter) indicates that the meter is

(a) 31 3%/ digit () 41 3/ digit

(¢) 43/ digit (d) 51 =/ digit

3. Wioer 6 VR o SR, Tk e Ushdl 27

During soldering process, flux prevents

(a) A9 %W M1/ Temperature reduction !
(b)y  ATemmEe FHIT/ Oxide formation
(c)  "&WE/ Corrosion

() wicsl Iaas 891/ Spilling of solder

4. 8051 qaw e g (RO % T Weifdl o g

The number of interrupts handled by 8051 microcontroller (other than Reset) 18

(@ 4 (b) 8 cy b dy 7

3 TE-01 3 March 2019
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DSO # (27eh1 ToH Ie-3e) e T ST R T Y T e HIIEH SET SR S Hehd] 27

In a DSO (Digital Storage Oscilloscope), the time scale of a waveform can be increased or

decreased using .

(a) Feaer f3==e1 / Vertical control (b) f{"l’(ﬁw / Trigger control

(¢)  W&has / Cursor (éi) &fest 9= / Horizontal Control.
e T8 S Wil O TS w1206 frefia e 2

In a surface mount resistor, the package number 1206 represents

(a) M / Dimension

(b Wﬂaﬁuﬁﬁaﬁa@rm / Number of resistors in the Reel
(e Fleeal IHA / Voltage rating

(d) Eﬁﬁ%ﬂ@/ Resistor value

Eed=unll o1 T TUTEH B

Tack Strength is one of the important property of

(a)  @eEH AE/ Soldering Iron (b) e / Flux
()  ®ieetad / Solder Paste (&) =St/ PCB
sfiae Glest slig g @ 21

Cold solder joint refers to

(2)  SMD TTed / soldering
(b) @8 IE "ies / Through hole soldering
(c) THesETH 29 / Soldering Defect

(d) TR EM / Crimpiog
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9. &I I oT PCB i fored ka7
A proper conformal coating prevents PCB from .
(a)  H&WW/ Corrosion (b) EdT/ Humidity
(c) TR yid@et / Environmental Stress () SYURE @t/ All the above
10.  FEt Rt Seda Wil | e ot diedar it @ weg 9 & 6
- The prime advantage of servo controlled voltage stabilizer over other voltage stabilizer is
(a) o diceal eied / Faster voltage correction
(b)  FATER AR FASH / Size and weight
(c) a¥ / Cost
(d) Nﬁﬁf A/ F requency dependent
11.  TF OR7E % 4 e 21 ush fraer s @ sfiv av=a 3 o & 3weh! frig : 2
An OR gate has 4 inputs. One input is high and the other three are low. The output is
(&) FHH/low
(by =€/ high
(o) ST ST 3T &9 / alternately high and low
(@ &9 % ag ufear & st W)=t @ = o fst 7 may be high or low depending on
relative magnitude of inputs
12. o= fomd fet wifer 3uimt stravass 2 o fore Freferfige & @ i ar ad aiem sl 87

Which of the following logic families are preferable in systems requiring low power
consumption? '

(a) TTL (by CMOS o (¢y MOS (dy ECL

TE-01 5 March 2019




-1,,, U R RAO SATELLITE CENTRE, BENGALURU SET
ol

iBra - TECHNICIAN-B (ELECTRO-MECHANIC) A

13, Uk XOR T ! W78 44 o o0 =9 & 9 foraf ween §f NAND e =nfeu?

Find the minimum number of NAND gates required to realise a XOR gate?
(a) 2 by 6 () 5 (d) 4

14, U AT IS T SR HSWOT 9y 1

The basic storage element in a digital system 1is

(a)  To9 AT/ Flip flop _ () Al / Counter
(c) E@W/Multiplexer (d) =EF/ Encoder

- 15, geAeliereR STgaiteh Ty forae aar 27
A synchronous sequential circuit is made up of

(a) TARHER/ combinational gates (b) Taewt=i/ latches

(¢) g vy / flip-flops (d) T (a) AT (c) /both (a) and (c)
16. Uk Uil STaaeg i e € ST LR EUEIE

Shifting a register content to right by one bit position is equivalent to

(a) TSI/ Division by two (b) TTHTET/ Addition by two

(c) a“rﬁgumw / Multiplication by two  (d) =18 =Hdeed / Subtraction by two

17. 5 ToT" eIy g Ush g TS | i
A ring counter with 5 flip flops will have
(a) 5 IFFEITL / states (b) 10 3T/ states

(¢) 32 IEAN [ states (d) F=d 3= / infinite states

" TE-01 6 March 2019
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18, U ZIISEE 1 AT vk | Rr e

A transducer's function in general is to

(a)  forrett Sl o1 TER il € / Transmit electrical energy

(b)  Soi = Fee 1/ Convert energy

(c) R St =t 3T T/ Produce mechanical energy

(d) R Y478 UFAT / Prevent current flow

19, fr=faRae 4 afe clasmamme?

Which of following represent active transducer?

(a) %@%rmrcﬁ/ Strain gauge (b) @t ufdtiees / Thermistor

(¢) TWAAFHIA/LVDT (d) @ ga g/ Thermo-couple

20. W 2F GO 1C = 7, 1 <fien 1 areedn s afierem difsg|

_ |
If a 2F capacitor has 1C charge, calculate the voltage across its terminals. fi
(a) 05V by 2V

© 15V @ 1V

91, wa a7 g T RmeT ) Rradl srfrman 27

Maximum efficiency of a half-wave diode rectifier is

(a) 33.3% (by 40.6%

©  75.2% ' @ 90%

TE-01 7 March 2019
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22. U W W SRS ' o TEd TRad] JTNET o A FH A B

Varactor Diode acts a variable Capacitance under
(a) 30 ARAK / Forward Bias

(b)  3ckm ATk / Reverse Bias :
(c) T 37 3R IhT AN / Both in Forward and Reverse Bias ' 7
@ I AR/ Zero Bias 3’

23. 7905 ! wfafewa Frafa e e @ @7 |
What is the expeéted regulated blitput izoltage of 79057 _
(a) 9V (b) -5V @ 5V d -9V |

24, A3 B gy ¥ R w4 s v, # wefi | fm e we 9 3 o
 V;=10sinel. V; =1V g aiRAm i & (V,) srie i s see 0.7 V 8|

For the circuit shown below identify the correct output V,

out *

where V; =10sin wf. V3 =1V and assume forward voltage (Vf) of diode is 0.7 V. _ |

The input voltage is a sine wave

(a) > 1.7 V& / clipped
(b) 1V DC 3eqred 8 5w / shift in the output
{¢) ared qufl femspa i / half wave rectified output

(d) < 1.7 Vedd/ clipped

CTE01 8 March 2019
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25.  uH SCR =l Frad 75 o ST 8
An SCR may be turned OFF by . 1
(a) 12 dicedl % g i Fees / Removing the Gate Voltage pulse

(b) Feite divedl 1 UAIS dAicedl 7 Fh / By reducing its anode to cathode voltage
(c) ¥ {1 IRT = %9 ot / By reducing the current below the holding value

(d) 394k G+t / All the above

26, IGBT, Frrfefiad § & 5 & 3 gew 3w e o 37
IGBT has the combined advantages of the which of the following two components?
(a) OPAMPs 3 sMis / OPAMPs and Diodes

(b)  FETs 3Ug@® / FETs and TRIACs

(¢  MOSFETSs 31 /and BJTs
(@) BJTs 3R/ and DIODEs i

27.  RTI SRS o fou &l 91 e 89 27

The region of operation for a photo diode 1s

(a) 3 SIATT / Reverse Bias (by W ARAR/ Forward Bias ‘

(¢)  ge9gy / Open Circuit (d) <HINYY/ Short-Circuit

28. I MTEEIeet gtk H i © WEA Bid 87

Opto-Isolator device consists of the following device/devices

(a)  SrvE I yfatias / Diodes and resisters

(b)  ToEih ST AUTE / Amplifiers and Capacitors
© LEDs @R g@E / LEDs and photo-diodes
(d) e EEE 3 LED / Laser diodes and LEDs

TE-01 9 . March 2019
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29. = 33 gu OPAMP witws =1 ultere Hifsm
Compute the output of the OPAMP circuit given below

_.a
Rf 4K
7| 12V
l 2
R - 6
- , ————Qutput
3V *
4
-12V
(a) =3V (b)y 4.5V (c) +9V (d) Zero
30. = T gu ofe w0l wgeTa|
Identify the circuit given below
I}
Cfl 1
+12V
7
Vi 2 [
__._._._/\/\/\r _
Rl 3]

) Vo
3
J::——/

(a) 3fahetes / Differentiator (by dd =7/ Comparator
(c) s / Clipper (d) THELE / Integrator

31, oA e Sid) ® e i e el R =t R S e
Which gas is produced during charging a lead-acid battery?

(a)  @EersH/ Hydrogen () #2 / Methane
(¢)  SATFH=E / Oxygen (d) e B1§ 3ATHAEE / Carbon dioxide

" TE-01 10 March 201
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32. T 120 Ah §ar sl Sl FFH T 8 A a0 gedi B
A 120 Ah capacity battery can deliver a current of 8 A for a period of
(a) 2097/ hrs (b) 15%21/ hrs
(¢) 1220/ hrs (d) 87¥20/hrs

33.

34.

35,

TE-01

- Tee uftmy foister (BLOB) =iF & fgia w = sk 87
Earth Leakage circuit breaker (ELCB) works on the principle of

()  SGIR 90 / Overload current

(b)  THYNYY & / Short circuit current
(o) FAMTE T / Residual current

(d) 3T 9/ Neutral current

Sl o1 TR w3 H @ * A, g = 9 H TSI foran e 21

In order to increase the ampere- hour rating of a battery, the cells are connected in

(a) %}@W { series (b) EFAFT/ parallel

{c) %@E’Tﬁﬂ&? — QIR / series-parallel (d) T/ star

o qRomfis § wor a2 8wy hl S Eehdi 27

Eddy current loss in a transformer can be reduced by

(a) qoed LIAdT SIgeR / increasing the thickness of the laminations

() qee & AT =hH ish [ decreasing the thickness of the laminations

(© I ST 9 o |19 §' Sl Rl wU2AT / winding the coils with a higher gauge wire

() o iy ¥ wlE EIRERU FH h T/ decreasing the air-gap in the magnetic circuit

11 : March 2019
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36.

37.

38.

39.

W‘k’wwwm%%@ﬁqm@r%‘?

What is the formula to determine the transformation ratio K'? -

(a) szjyi:ﬂ:ﬁ (b) K:ﬁl_:_&zﬁ
N E L E E, I
(C) K:NQ.:E_Q_:J_& (d) K:_'Z.YZ_:_J?_Z_:A
I, N, E N, E I

Tehel ohe] Hied o SAfreTefirerar it fodimar T8 g 6

One of the characteristics of a single phase motor is that it

(a) o Wyadi g/ is sellf-sta'rting
(b) o WS A€l & / is not self-starting
(¢) 38 ik us due =1EY / requires only one winding

(@) Tobwwmfand 'r{ﬁ?r T HFal & / can rotate in one direction only

efTfcarer =iTeieh | feregd | o YaTE o SR B 2
Electric current in a metallic conductor is due to flow of

{a) ETE Séﬂ?jq% / Electrons only

(b) el GTCHe 3T / Positive Tons only
(c)  Ioiweld 3R gTcHs 31 ® / Electrons and positive ions

(d) @ =M g/ Neutrons only

T 100 V farat &t AC =1 gl /W g

A 100 V peak AC has effective value as

(1) 100V (b) 1414V
{c) 707V (d)y 50V

- TE-01 12

March 2019
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40.

41,

42.

43.

44.

U Tohet el ST Hefi  stoeh-sl feom formst wanfora gem @7
In single phase induction machine, the centrifugal switch is connected in

(a) E@WWﬁ/ Parallel with main winding

(by @ heell et i/ Series with Main winding

(c) Pl E @Fﬁ q Htﬂ?l'dtﬁ / Parallel with Starting winding
(d) T FEell § FEE | / Series with Starting winding

Uk TS STHT Y e S e § weerdt 2
converts assembly language into machine language

(a)  HFe/ Compiler (b) EHTWE / Assembler
{c) WIS [ Loader () 379 ® <% 8T / None of these

1 KB (Frett stéed) =1 vaers
1 KB (Kilo Bytes) equals . .
(a) 1000 Bytes (b) 100 Bytes (¢ 10MB (d) 1024 Bytes

e e fore oy fora s 27
Windotwvs Explorer is used for

{a) 3 ST / Internet Browsing |
(b)  HI3eH UF Wieel % WS 2 / Manage Files and Folders

(e) 50 % W&eq / Managing Printers
(dy 3TH I HIE TEl / None of these

USB =1 314 §

USB Stands for .

(a)  Unique Standard Bus (b)  Universal Serial Bus
{c) Universal Standard Bus (d) United Serial Bus

T.E-Ol 13 March 2019
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45.  Sete forgss Wiy 18 U SIS W Wehar a7

The Internet can be best associated with

(@) @ FIHI T Ej&ﬁ = 1y ﬂ@ &/ Two computers connected to each other

b))  FEiemdad ?m'T‘?,_[&:f =1 Tk W §&41 / All Computers connected in office

(c) qE § Ao |l chl-ui\di T Aedeh / Network of all computers connected in India

(d) el = dfv gk 1 WK 9 ¥ §el &1 / Global network of computers connected by

communication systems

16, Treied § 3 € 91T oas & seRa T 27

Which of the following is not related to social networking?

(a) et/ Twitter (b) Tiemw / Hotmail
(c) = EgH/ Facebook (d) fFEA/ LinkedIn
47 MS Excel T aehae =1 UE &

In MS Excel, a workbook is a group of .
(a) S ST &R / Rows and Columns

(b)y TA/ Cells
(c)  a=reie / Worksheets
() 39l 8 T RIE TR/ None of the above

48, IR MU = 1 Ul o W1 o el b1 el i o folt =T ol WaRH A 8, d1 1
YA R |

°hl

If you have to display chart to compare values that represent parts of a whole, you will use

(a) 9/ Bar Chart (b) YR/ Pie chart
(¢)  T@rar/ Line chart | (d) RV / Scattergram

TE-01 14
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49.  URL = %7 31 27
URL Stands for

(a) Universal Resource Locator
(b)  Uniform Resource Locator
o) Uniform Resource Label

(d)  Universal Research Locator

50.  3H Wl AT Yz itk T 87 |
Which of these is NOT a networking device?

(a) U/ Router _ () &=/ Switch

(c) WIERATA / Firewall (d) ®&/HUB

1. 3ewsisk gt fa=arah =h1 svaiiy e 3 e Srar 27
Emitter Follower configuration is used for

(a) EﬁﬁTﬂTHﬁ'{lﬂ?/ Impedance Matching
(b) e JagH / Voltage Amplification

(c) 9Tel 9t / Power Amplification

(d) 3UUw TG e 35t / / None of the above

52, WTHI HTE HEIO U e f Aeem a3

Voltage gain of Common Collector configuration based Amplifier is . I

() A% TR/ Equal to Zero (b) 1¥=W/Less than 1 |E

(c) 10 & 50 dF /10 to 50 (d) BOTIE/ Greater than 50 w

TE-01 15 March 2019 I
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53.  yerefep ufue o oTTcEsR IO bl e T R |
Negative feedback in amplifier circuit is to provide

(a)  Terwr oeha W s@iadl / Increase in input signal

(b) A9 =5 / Temperature control

(c) wfetr | ?;I'r@/ Increase Gain

(d)  TonRea ¥ garAr / Tmproved Stability

54, O B oo e B s R S AT SR A ) v S e 3

Widely used Receiver Architecture in communication systems is

(a) gu=E RF s1mal / Tuned RF Receiver
®) = 159 B! / Heterodyne Receiver
(c) Yesl B HAHUTET / Direct conversion Receiver

(d)  SWiT A W HE T8l / None of the above

55. ST T WM % e o fere )

Balun circuit is used to interconnect

(a)  HHE @ H THTE @1 d% / Coaxial line to Coaxial Line

) WW%@@[WW%@% / Twin wires line to Twin wires line
(o) ey T WW}@TWI Coaxtal to Twin wires line

(@ e di 0T 91961 9k / Twin wires line to Waveguide

56. e ST T A S s w9 & S e i AT S S 3

Widely used light source in Fibre Optic Communication systems 1s -

(a) B NI/ Visible light ' (b) ST/ Ultra Violet

(¢) 39T / Infra Red (d) Ve TR/ X-Ray

TE-01 16 March 2019
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57.

59.

60.

RIS (1T 1 i EESIE-EIE

Core of the optical Fibre is made out of

(a) A/ Air . (b) @&T/ Copper

(¢) @A/ Glass (dy FT/ Quartz

L9 TERTIRTE H S AT SN B

In Fibre Optic Communications, basic principle of operation is based on

(a)  IAEIIT/ Absorption (b) TEH / Attenuation

(c)  Adie widferst / Internal Reflection (d) 3TuFET / Refraction

w%ﬁwﬁaﬁ@ﬁwﬁwﬁmw%,ﬁwwﬁm%W@wmw
=4

When Silicon Transistor is biased properly, the Vag value for Common Emitter bonfiguration

is about

@ 07V ) 03V © 0V @ 5V

TS WA 30T Irereet fo=ame # e S1qrd To/T, 1 9 s 27

In common emitter transistor configuration, a current Ratio Te/Iy is called as

(a) a1/ Beta (b) w1/ Alpha

(c) I/ Gamma (d) did/ Theta

TE-01 17 March 2019
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5. gofl aegfis YRR & T THE 3 w0 w3 F e o o3, I H WIE aﬂ?ﬂﬁﬁﬁ%%ﬂ@ 3F F
st | Torell w2 <h ToTe =g I ST TTevd 3T HIAT ST

All objective type guestions carry equal marks of THREE for a correct answer, ZERQ for no answer and
MINUS ONE for wrong answer. Multiple answers for & question will be regarded as a wrong answer.

6. Wg@ﬁﬁaﬁ%ﬁaﬁm%ﬁmﬁmgﬁgmgmg%ﬁa%mw% T OMR 3fiz W, fesa  Tor@mr aon
AT sl HET SATerr B U T HE T, IR ] HgEh T (T ST

Question booklets have been marked with A or B or G or B on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not
be evaluated.

7. afe gy g, O It ST SR S %o A & T Su TR S wehdt & | Stem § g T e ste)

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

8. Iufufy vhe uetaler 0 & wger, Theel w1 ety sie gt afen @vs fvesm g e 5 o T % an d
TETE R BT

Before signing the aitendance sheet, the candidate should write the Booklet Code in the attendance sheet. |
Candidates should sign against THEIR names only.

9. wliEn s 3@ d (1) wial wlga fafaa whe gemE o= (2) 75 OMR IR ite i e &t e sl qun fad) € affaaly
7 ufcemeff 58 7 7 )

At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer
Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.

10. et wutazer & Fredea o wed 3 forelt oft wfemean /fama €9 o Awa 4, sl waiawe gdt qesnen)

in case of any ambiguity/ dispute arises on account of interpretation of Hindi version, English version shall
finally prevail.

KRR

TE-01




